Practice Viruses and Bacteria Quiz
1. A virus consists of at least
A. DNA and a membrane
B. A nucleic acid and a protein – DNA or RNA + Protein, sometimes with a few lipids
C. DNA and ribosomes

D. A nucleic acid and ribosomes

2. Describe how the genome of a virus is different from that of living species such as bacteria and eukaryotes.

Can be RNA or DNA. Single or double-stranded, much smaller than living species

3. The process above depicts
A. transduction or the transfer of genetic materials by viruses

B. the reproductive mechanisms of a retrovirus – notice reverse transcriptase making DNA from an RNA template, then inserting itself into the host DNA, which can then reproduce the virus
C. the interaction between the lytic and lysogenic cycles of viral reproduction

D. how a bacterium can infect a host and cause disease

4. Explain at least 2 reasons why the entity shown in the diagram above is likely to evolve quickly

No proofreading mechanisms in Reverse Transcription.  Rapid reproduction means mutations happen more often. Also transcription produces more errors than DNA replication.
5. A friend of yours has Herpes, a virus.  He thinks it’s gone because the symptoms gone.  You tell him 
A. the virus has gone through the lytic cycle and burst, so you’re all good
B. those antibiotics you took probably destroyed the ribosomes or cell wall of the virus
C. the virus is probably in the lysogenic cycle so it is being copied into all of the new cells you make –aka the virus is latent
D. viruses have a short lifespan so it has probably died 
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6. Explain how the process above was significant to evolution of early life forms

Viruses carried pieces of DNA from bacteria to bacteria (and to and from Archaeans as well).  This introduced greater genetic diversity in populations which allowed them to survive and reproduce
7. Which of the following would be least effective in creating an antibiotic to fight off bacterial infections?
A. An enzyme that prevents replication of circular chromosomes
B. A protein that pierces plasma membranes – would also attack our cells! Bad!
C. A toxin that attacks small, bacterial ribosomes
D. A molecule that breaks down peptidoglycan

8. Draw out how one bacterium can pass a trait such as resistance to another bacterium
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9.  Which of the following best explains the diagram to the left?
A. It shows that all species are more interrelated and share more recent common ancestors than previously thought
B. It demonstrates how viruses affect all of the different domains
C. It shows the cellular differences between the different domains
D. It demonstrates the importance of horizontal gene transfer between different species, who may have had very distant common ancestry. Transduction, conjugation or even transformation . Genes pass between different species, not just from parent to offspring
